





®9-3 ® 7-4

®6-4 ® 8-3
O 5216().— 3 J1CC. ® 90- 40

® 5-5 ® 5-4



N

Y4yebHuk cTp. 19 Nel

bru10-3 nec.
Bzsmi- 1 nec.
OcTtamnoce- ? nec.

3 nec.-1 gec.=2 gec (sAu11)-0CTAIIOCh.
OTBeT: 2 IeCsITKA SIHIL.



W

7 Iec.-2 aec.= 5 aec.
5 AeC.-4 Aec.=1 aec.
8 Zec.-5 nec.=3 zec.
9 Jec.-3 gec.=6 mec.
6 mec.-1 gec.=5 nec.

g Aec.-7 Aec.=2 Jiec.



0

W
bru10-30 guir.

Basnu- 10 guir.
Ocranoce- ? du.

30-10=20(s1111)- OCTAIOCH.
OtBeT: 20 gu.



P

70-20=50
50-40=10
90-30=60

60-10=50



No6

(30+20)-20=30 (60+30)-50=40
(50+30)-10=70 (20+70)-40=50

(40+50)-30=60 (30-+40)-60=10



O

60-20 > 60-30
70-20= 70-10-10

(50+40)-10 = 90-10

80-(10+60) < 90-(60+10)






